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1. Suppose purchasing power parity holds. If the price level in the U.S. is 100 dollars per good and
the price level in Japan is 250 yen per good, then the nominal exchange rate is yen per
dollar.

A)0.25

B) 0.4

ayas

D) 4.0

2. If the money multiplier is 10, the purchase of $1 billion of securities by the central bank on the
open market causes a

A) $10 billion decrease in the money supply.

B) $1 billion decrease in the money supply.

C) $1 billion increase in the money supply.

D) $10 billion increase in the money supply.

3. Suppose you hear of a great deal on a used car and wonder, "Why is the price so low?" This
might be an instance of

A) tyranny of collateral

B) adverse selection

C) the free rider problem

D) moral hazard

4. An appreciation of the domestic currency can be caused by

A) a decrease in the domestic interest rate.

B) an increase in the domestic interest rate and expectation of an increase in the value of the
domestic currency.

C) an increase in the domestic interest rate and the expectation of a decrease in the value of the
domestic currency.

D) the expectation of a decrease in the value of the domestic currency.

5. Research supporting the new Keynesian model finds that prices are
A) slow to adjust to aggregate demand shocks

B) changed very frequently

C) changed only infrequently

D) not as flexible as wages

6. Which of the following demonstrates that policymakers cannot know the outcome of their
decisions without knowing the public's expectations of them?

A) traditional Keynesian theory.

B) Post Keynesian theory.

C) real business cycle theory.

D) new classical theory.

7. In a competitive market, the market demand is Q¢ = 150 2P and the market supply is Q°* =30 +
4P, A price ceiling of $16 will result in a

A) shortage of 24 units.

B) shortage of 34 units.

C) surplus of 58 units.

D) surplus of 34 units.
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8. Principal-agent problems do not arise between:
A) stockholders and managers.

B) managers and workers.

C) stockholders and workers,

D) workers and consumers,

9. Suppose that there are two industries, A and B, There are five firms in industry A with sales at $5
million, $2 million, $1 million, $1 million, and $1 million, respectively. There are four firms in
industry B with equal sales of $2.5 million for each firm. The four-firm concentration ratio for
industry B is:

A)0.9.

B) 1.0. !

) 0.8.

D) 0.7.

10. An electronics company takes over one of its original suppliers in a merger. This is an example
oft

A) vertical integration.

B) horizontal integration.

C) cointegration.

D) conglomerate integration.

L1. Refer to the following game of price competition.

Firm B
Low Price.  High Price
Firm A | Low Price (9, 10) (8, 15)
High Price (7,-10) (11, 11)

What are the Nash equilibrium strategies for firm A and firm B respectively?
A) (low price, low price)

B) (high price, high price)

C) (low price, high price)

D) (low price, low price) and (high price, high price)

12. Tom is offered two gambles. With gamble A, he either gains $2 or loses $1 with a 50 percent
probability. With gamble B, he either gains $3 or loses $2 with a 50 percent probability. Tim prefers
gamble B to gamble A, What can we conclude?

A) Tom is risk loving.

B) Tom is risk neutral.

C) Tom is risk averse.

D) Insufficient information to determine.

13. Holding the mean constant, the larger the standard deviation, the the gamble will
be.

A) more risky

B) less risky

C) higher utility

D) None of the statements is correct.
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14. Which of the following is true concerning negative externalities?

A) Firms tend to produce more than the efficient level of output.

B) Society gains because firms do not pay the external costs of production.

C) Perfect competition is better than monopoly from the viewpoint of society even in the presence
of negative externalities.

\ D) With negative externalities, a monopoly will always produce an output level less than is socially
efficient.

15. If nominal money supply grows 3% and real money demand grows 8%, the inflation rate is
A) -5%.

B) 8/3%.

C) 5%. i
D) 11%.

16. Supposed that C is consumption, I is investment, G is government purchases and NX is net
exports, according to the expenditure approach, Y would stand for . The national income
identity could be written as :

A) Green Income; Y=C+1+ G -NX

B)CPLY=C+I+G+NX

C)GDP; Y=C+I1+G+NX

D) Income; Y=C-1-G+NX

E) The Exchange Rate; Y=C + [+ G + NX

17. The reason for the downward-sloping 1S curve is that

A) lower interest rates lead to lower saving and lower output
B) lower interest rates lead to lower saving and higher output
C) higher interest rates lead to lower saving and higher output
D) none of the above

18. The central bank has announced that it plans to lower the rate of monetary growth from 10% per
year to 2% per year. You would expect this announcement to directly

A) increase money demand, shifting the LM curve up and to the left.

B) increase money demand, shifting the LM curve down and to the right.

C) decrease money demand, shifting the LM curve up and to the left.

D) decrease money demand, shifting the LM curve down and to the right.

Mary agrees to-lend John $100,000 to buy computers for his company. They agree to a nominal
interest rate of 6%. Please answer the following two questions.
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19. If both expect the inflation rate to be 2%, what is the expected real interest rate?
A) 8%.
B) 6%.
C) 4%.
D) 2%.
20. If inflation turns out to be 3% over the life of the loan, who gains from unexpectedly high {
inflation?
A) Mary.
B) John.
C) Both of them.
D) None of them.
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1. ABA corporation operates in the highly competitive consumer electronics industry. Prices (P) for
its product, compact disk player (CD player) are stable at $250 each. This means that P = MR
(marginal revenue) = $250 in this market. The estimated total cost for the compact disk player is:

TC = 400,000 + 70Q + 0.002Q?

in which TC is the total cost and Q is the quantity (output).
A) Please find out the marginal cost. (8%)
B) Calculate the output level that will maximize profit. (8%)
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